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Perpendicular Bisector

1. Write an equation of the perpendicular bisector of the line segment whose endpoints are (3,5) and (5,9)
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3. Write an equation of the perpendicular bisector of the line segment whose endpoints are (-3,2) and
(0,3).
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4. Write an equation of the perpendicular bisector of the line segment whose endpoints are (-4,3) and (4,5)
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5. Write an equation of the perpendicular bisector of the line segment whose endpoints are (-8,4) and (2,2)
Y

m=_Ay
D

np= 0“”2 +Y )

412 )

mP =6 G )

‘ s L

mp = (’%/%)
3—§I:W’)(X“X\J
j,}: ‘§(x+?>)

6. Write an equation of the perpendicular bisector of the line segment whose endpoints are (—1, 1) and
(7,-5).
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7. What is an equation of the perpendicular bisector of the line segment shown in the diagram

below?
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8. Line segment NY has endpoints A(~11,5) and ¥(5,-7). What is the equation of the

perpendicular bisector of NY?
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